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Exercise 8                                              
1. (i) (81/16)-3/4 

Solution:  

 

(81/16)-3/4 

= [(34/24)]-3/4 

= [(3/2)4]-3/4 

= (3/2)-3/4 x 4 

= (3/2)-3 

= (2/3)3 

= 23/33 

= (2 x 2 x 2)/(3 x 3 x 3) 

= 8/27 

 

(ii)  

Solution:  

 
= (5/4)3 x -2/3 

= (5/4)-2 

= (4/5)2 

= 16/25 

 

2. (i) (2a-3b2)3 

Solution:  

 

(2a-3b2)3 

= 23 a -3x3 b 2x3 

= 8a-1b6 

 

(ii) (a-1 + b-1)/(ab)-1 

Solution:  

 

 
 

3. (i) (x-1 y-1)/(x-1 + y-1) 

Solution: 
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(ii) (4 x 107) (6 x 10-5)/(8 x 1010) 

Solution:  

 

 
 

4. (i) 3a/b-1 + 2b/a-1 

Solution:  

 

3a/b-1 + 2b/a-1 

= 3a/(1/b) + 2b/(1/a) 

= (3a x b)/1 + (2b x a)/1 

= 3ab + 2ab = 5ab 

 

(ii) 50 x 4-1 + 81/3 

Solution:  

 

50 x 4-1 + 81/3 

= 1 x (1/4) + (2)3 x 1/3 

= ¼ + 2 

= (1 + 8)/4 

= 9/4 = 2¼  

 

5. (i) (8/125)-1/3 

Solution:  

 

(8/125)-1/3 
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= [(2 x 2 x 2)/(5 x 5 x 5)]-1/3 

= (23/53)-1/3 

= (2/5)3 x -1/3 

= (2/5)-1 

= 5/2 = 2½  

 

(ii) (0.027)-1/3 

Solution:  

 

(0.027)-1/3 

= (27/1000)-1/3 

= [(3 x 3 x 3)/(10 x 10 x 10)]-1/3 

= (33/103)-1/3 

= (3/10)3 x -1/3 

= (3/10)-1 

= 10/3 

 

 

6. (i) (-1/27)-2/3 

Solution: 

  

(-1/27)-2/3  

= (-1/33)-2/3 

= (-1/3)3 x -2/3 

= (-1/3)-2 

= (-3)2  

= 9 

 

(ii)  

Solution:  

 

 
= (5/4)3 x -2/3 

= (5/4)-2 

= (4/5)2 

= 16/25 
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